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QUESTION 1

The following code is supposed to find the earlier date between today\\'s date and the given input date
which is input to the program in YYYYMMDD format. What happens when the program is executed?
DCL DATE JN CHAR (8);

DCL DAT E_MIN CHAR (8);

GET (DATE IN);

DATE_MIN = MIN(SUBSTR(DATETIME(), 1, 8), DATE IN);

A. The program ends abnormally at runtime.

B. The statement works as intended.

C. The resulting value consists of 8 blanks.

D. The resulting value consists or a mixing or numbers and blanks.

Correct Answer: C

QUESTION 2

Which of the following is generally NOT an area of concern when calling a program written in another language from
PL/N?

A. Storage management

B. Acceptable calling conventions
C. Data mapping

D. Condition handling

Correct Answer: A

QUESTION 3

The lead developer on a project has just learned that Pat, a highly skilled programmer on the team, has been
reassigned. The lead developer is familiar with Pat\\'s work and is concerned because no one on the team has the
necessary skills to pick up the work immediately. A new employee with the required skills is joining the team next week,
but the timeline for a mission critical milestone has been moved up to the end of this week. Which of the following is the
most appropriate action for the lead developer to take to ensure that the critical milestone is met?

A. Direct the team to cover all of Pat\\'s work until the new employee arrives.

B. Explain to the team why this change in schedule is important to the customer.
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C. Personally cover the work until the new employee arrives.
D. Explore with the team whether they will be able to meet the new deadline.

Correct Answer: C

QUESTION 4

Given the following pseudocode example, at which label should an unconditional COMMIT be placed assuming there is
a one-to-many relationship between FILO1 and FILO2 and FILO1 contains several thousand records? Read record from
file FILO1

A. DO while there are records in FILOLIF record in FILO1 specifies update THENDO for all records matching in
FILO2Update record in FILO2 with information from FILO1 end DO

B. end IF

C. Read next record in FILO1
D. end DO

E.A

F.B

G.C

H.D

Correct Answer: B

QUESTION 5

Given the following declarations, a list of 100 elements must be created so that the element created last
can be accessed as the first element of the list. A new element is always inserted in front of the element
created before. The variable NEXT in the last element should contain the value NULL. Which of the
following pieces of code implements this?

DCL 1 NODE BASED (ANCHOR).

2 NEXT POINTER,

2 DATA FIXED BIN (31);

DCL ANCHOR POINTER;

DCL P POINTER INIT (NULL());

DCL | FIXED BIN(31);
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A.DO|=1TO 100;ALLOCATE NODE;NODE.DATA = I;NODE.NEXT = P;P = ANCHOR;END;
B. DO =1 TO 100;P = ANCHOR;ALLOCATE NODE;NOTE.DATA = I;NODE.NEXT = P;END;
C.1=1TO 100;ALLOCATE NODE;NODE.DATA = I;NODE.NEXT = P;ANCHOR = P;END;

D.DO1=1TO 100;NODE.DATA = I;NODE.NEXT = P;ALLOCATE NODE;P = ANCHOR;END;

Correct Answer: A
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